575 <Ht < 1000 GeV

N, Ny Mr; [GeV] Z—vi Lost lepton Multijet Total background Data
200 — 300 198 +6(stat.) £48(syst.) 109 7(stat.) +17(syst.) 6.0 705 (stat.) =3.8(syst.) 313 T3(stat.) £51(syst.) 356
300 — 400 100 £3(stat.) +-20(syst.) 39 £2(stat.) £6(syst.) 0.3 £0.0(stat.) +0.3(syst.) 139 +4(stat.) £21(syst.) 156
2 —3j,0b 400 — 600 86 £2(stat.) £23(syst.) 24 *2(stat.) £6(syst.) 0.04 +0.01(stat.) T03(syst.) 111 +3(stat.) £24(syst.) 121
600 — 800 18 *{(stat.) £6(syst.) 4.1 +£0.2(stat.) £1.3(syst.) 0.00 +0.00(stat.) +0.00(syst.) 22 +1(stat.) +6(syst.) 15
> 800 1.6 £0.0(stat.) £0.7(syst.) 0.3 0.0(stat.) 0.1(syst.) 0.00 £0.00(stat.) 4-0.00(syst.) 1.9 *8 [l)(stat) +0.7(syst.) 1
200 — 300 26 +2(stat.) £7(syst.) 13 +2(stat.) +2(syst.) 1.9 £0.1(stat.) £1.3(syst.) 41 £3(stat.) £7(syst.) 34
300 — 400 12 +1(stat.) £3(syst.) 4.6 *8 ‘;(stat) +0.8(syst.) 0.1 40.0(stat.) 0.1(syst.) 17 +1(stat.) £3(syst.) 15
2-3j,1b 400 — 600 11 £1(stat.) £3(syst.) 3.1 14(stat.) +0.8(syst.) 0.01 £0.00(stat.) T302(syst.) 15 +1(stat.) £3(syst.) 20
600 — 800 2.7 +0.2(stat.) +1.0(syst.) 0.5 j:O 1(stat.) +0.2(syst.) 0.00 £0.00(stat.) +-0.00(syst.) | 3.2 +0.2(stat.) +1.0(syst.) 1
> 800 0.2 +0.0(stat.) £0.1(syst.) | 0.02 £0.00(stat.) £0.02(syst.) | 0.00 £0.00(stat.) 0.00(syst.) | 0.3 £0.0(stat.) iO.l(syst.) 0
200 — 300 2.8 709 (stat.) 11 (syst.) 1.7 T07(stat.) £0.3(syst.) 0.4 £0.0(stat.) +0.3(syst.) 4.9 T13(stat.) T12(syst.) 5
2-3j2 300 — 400 | 1.4 *03(stat.) £0.5(syst.) 0.6 T03(stat.) £0.1(syst.) 0.02 £0.00(stat.) £0.02(syst.) | 2.0 *0%(stat.) +0°(syst ) 1
/ 400 — 600 1.5 T03(stat.) TS (syst.) 0.3 T02(stat.) £0.1(syst.) 0.00 +0.00(stat.) +0.00(syst.) | 1.8 t°_5(stat) Ho(syst.) 2
> 600 0.3 0.1(stat.) +0.2(syst.) 0.01 fg 8(1)(stat) +0.01(syst.) 0.00 £0.00(stat.) +0.00(syst.) | 0.3 +0.1(stat.) +0.2(syst.) 1
200 — 300 175 fg(stat.) +38(syst.) 147 +8(stat.) +20(syst.) 36 f%(stat.) +20(syst.) 358 +10(stat.) =47(syst.) 361
) 300 — 400 73 £2(stat.) £15(syst.) 45 fg(stat.) +7(syst.) 1.9 £0.2(stat.) £1.5(syst.) 120 +3(stat.) +17(syst.) 119
4 - 6j, 0b 400 — 600 52 +2(stat.) +14(syst.) 20 +1(stat.) +5(syst.) 0.2 04 (stat.) 93 (syst.) 73 £2(stat.) +15(syst.) 79
600 — 800 | 9.0 +0.3(stat.) +£3.2(syst.) 2.1 £0.1(stat.) +0.7(syst.) 0.02 F0{%(stat.) £0.02(syst.) 11 +0(stat.) £3(syst.) 14
> 800 0.6 +0.0(stat.) +0.3(syst.) 0.1 +£0.0(stat.) £0.0(syst.) 0.00 tggg(stat) +0.00(syst.) | 0.7 £0.0(stat.) +0.3(syst.) 1
200 — 300 36 f%(s’cat.) +9(syst.) 60 £5(stat.) £9(syst.) 13 +1(stat.) +7(syst.) 108 fg(stat.) +14(syst.) 111
4-6i,1b 300 — 400 16 £1(stat.) £4(syst.) 16 +1(stat.) +3(syst.) 0.7 +0.1(stat.) 0.6(syst.) 33 £2(stat.) £5(syst.) 34
) 400 — 600 11 £1(stat.) 4(syst.) 5.9 £0.5(stat.) +1.8(syst.) 0.1 £0.0(stat.) £0.1(syst.) 17 £1(stat.) =4(syst.) 20
> 600 1.8 £0.1(stat.) £0.8(syst.) 0.7 +0.1(stat.) -0.3(syst.) 0.01 fg:gé(stat.) +0.01(syst.) 2.5 +0.1(stat.) +0.9(syst.) 1
200 — 300 6.3 T12(stat.) T3 (syst.) 30 "3(stat.) £4(syst.) 3.8 +0.2(stat.) £2.5(syst.) 41 +4(stat.) £5(syst.) 30
4-6j,2b 300—400 | 25 +Of"(stat) +0.9(syst.) 6.9 T3 (stat.) £1.3(syst.) 0.2 £0.0(stat.) +0.2(syst.) 10 +1(stat.) £2(syst.) 10
400 — 600 | 23 B 5(stat ) £1.0(syst.) 2.5 £0.3(stat.) +0.8(syst.) 0.03 £0.01(stat.) +:0.03(syst.) | 4.8 T)¢(stat.) 13 (syst.) 2
> 600 0.3 +‘“(staf) +0.1(syst.) 0.2 +0.0(stat.) £0.1(syst.) 0.00 £0.00(stat.) £0.00(syst.) | 0.5 *0:(stat.) iO 2(syst.) 0
200 — 300 7.8 ﬂé(stat.) i3.8(syst.) 20 +4(stat.) £3(syst.) 3.1 £0.1(stat.) £2.0(syst.) 31 £4(stat.) £5(syst.) 32
> 7j,0b 300 — 400 2.9 T03(stat.) - (syst ) 5.1 d(stat.) £1.3(syst.) 0.2 40.0(stat.) +0.1(syst.) 8.1 12 (stat.) £1.9(syst.) 9
> 400 1.9 +0.3(stat.) +1 1(syst.) 1.6 +0.3(stat.) +0.7(syst.) 0.02 00 (stat.) F093(syst.) 3.6 03 (stat.) £1.4(syst.) 1
' 200 — 300 2.7 T10(stat) 13 (syst.) 22 +3(stat.) £3(syst.) 1.6 +£0.1(stat.) =1.1(syst.) 26 +£3(stat.) +4(syst.) 26
>7j,1b 300 —400 | 1.2 703(stat.) £0.6(syst.) 4.9 *0%(stat.) +1.2(syst.) 0.1 £0.0(stat.) +0.1(syst.) 6.1 9 (stat.) £1.4(syst.) 6
> 400 0.5 *02(stat) +0. 3(syst) 0.9 £0.1(stat.) +0.4(syst.) 0.01 £0.00(stat.) +0.01(syst.) | 1.4 +0.2(stat.) +0.5(syst.) 3
200 — 300 11 j},_“(stat) 08 (syst.) 14 +2(stat.) £2(syst.) 0.5 +0.0(stat.) £0.3(syst.) 16 +2(stat.) £2(syst.) 16
>7j,2b 300—400 | 0.3 *03(stat.) £0.2(syst.) 2.4 103 (stat.) +0.6(syst.) 0.02 £0.00(stat.) +:0.02(syst.) | 2.7 103 (stat.) +0.6(syst.) 3
> 400 0.2 2 (stat.) £0.1(syst.) 0.6 +0.1(stat.) +0.3(syst.) 0.00 £0.00(stat.) £0.00(syst.) | 0.8 {3(stat.) £0.3(syst.) 1
200 — 300 0.8 T03(stat.) T8 (syst.) 0.7 71 ¥(stat.) £0.1(syst.) 0.5 +0.0(stat.) £0.5(syst.) 2.1 T I(stat) 08 (syst.) 4
2 —6j,>3b | 300—400 0.4 +02(stat )+ 0 2(syst.) 0.2 T (stat.) £0.1(syst.) 0.03 £0.00(stat.) £0.03(syst.) | 0.6 +04(stat ) iO 3(syst ) 1
> 400 0.6 *03(stat )" *0 4(syst ) 0.1 *8(1](stat) +0.0(syst.) 0.00 £0.00(stat.) fg:gé(syst) 0.6 +L)3(stat )+ iy 6(syst ) 0
' 200 —300 | 0.0 fg'g(stat.) +0.0(syst.) 3.3 703 (stat.) £0.6(syst.) 0.2 £0.0(stat.) +0.2(syst.) 3.5 +g 8(stat.) £0.7(syst.) 2
>27,23b | 300—400 | 0.0 '{7(stat.) +0.0(syst.) 0.5 £0.1(stat.) +0.2(syst.) 0.01 £0.00(stat.) +0.01(syst.) | 0.5 > (stat.) +:0.2(syst.) 0
> 400 0.0 T9-2(stat.) +0.0(syst.) 0.2 +0.0(stat.) +0.1(syst.) 0.00 +0.00(stat.) +0.00(syst.) | 0.3 fgﬁ(stat) +0.1(syst.) 0




